| Efficiency vs Dxy |

P
X

oo0.18-
> -
20.16F
&

50.14

=

©0.12F

0.08F
0.06F
0.04
0.02

0.2

0.1

...............................

...............................

10 15 20
TP dxy (cm)

5

—=— DOM CKFE-TeSILOWPT _100UevT
—e— DOM_mKkFitREFit-testfLowPt_1000evt
| Efficiency vs Dz | —+— DOM_mkFitREFit-OR-testLowPt _1000evt
—+— DOM”mKFi
0 8 —— DOM ™ mKFi

N Reln '

© L : :

tg C : :

2 0.7:— """""""" S e

[S] r : :

= E : :

B O G | L B (Lt R e LL ELL LR R R ALLLLLLLAE

O L : :

= C 5 :

(<] 05— --------------- L R Y ST R EETTEETE R Rt RRREETTELTE
Y R N e
0.3 oo e —
O e R S U SR
ot TN N

. I ﬂ"M +|+"+ |

O J_.LG 1 1 1 1 + 1 1 1 1 + 1 1 1 1 + ‘ 1 1 + 1 1 1 1 + 1 1 1 1

= r : ] : ] :

© I : :

o L : ;

| cEREEEEETE FEEEER FERRT IR EEE P TP PEEEPE PP
0.950 5 5
30 20 0

~10

20 30
TP dz (cm)

10

itREFit-ORK-testLowPt_1000evt
|tREF|t OR2 testLowPt “1000evt




	Contents
	Page 1


